<, o]
SCORE: /20 POINTS f{ +

NO CALCULATORS ALLOWED

UNLESS STATED OTHERWISE, YOU MUST SIMPLIFY ALL ANSWERS
SHOW PROPER CALCULUS LEVEL WORK TO JUSTIFY YOUR ANSWERS

.' The graph of f* is shown on the right. Evaluate the following limits. Write “DNE” if a limit does not exist. SCORE: ﬁ /3 PTS
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1 If limiw—r exists, find the value of a . —— () 12 BTS
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Using complete sentences and proper mathematical notation, write the formal definition of “vertical asymptote”.

SCORE: 2 /2 PTS

Evaluate the following limits. Write “DNE” if a limit does not exist. SCORE: ___ /7PTS
i M ) [b] L = Jim b—Jb-f-G: b+Vbt o
y—>~42y +5y—12 = Zb by o ST
i rxn:;‘{ij +&J 8, | f—_”—k b-h’-b’-;(:
) y 8 Iy :.,“‘33~ b+6
lim oy + Sy -l - -
Yl | b b”(g,ib)(mm)
Jim 2+ [Im 09»3 — fim- :
M Koy J % b 2 L6 0
= [T 2
|,m&3 $lim 5y - /i.m 12 pan (b~ &b)(b+m
] Rk - Jim - ' R J o~
)2 pudl) — & b3 (( - zb)(wm @
B =t o
oz(u) . 5 -1 i 6=20)C5 b -1 )4 @
G Ty
Vi) - I |- (:T )
B 9 25' L(b L:[[p&x-f—l/ if x<=2
1m“—’~-3———“+—3 [d] 1lmf(x)wheref(x)— x-1, if-2<x<3
-5 {°425 . S ;
5-x, ifx>3
i CCE+3) _ e -1)
2= W)
A i =TIC o0 im- (5—x) = 5 —(-2)
ks (6t +18) - ht +4 ‘
55 _t? +dd ~n fim- gx—!ﬁz.—o? ~|. = =3
£24 a5 e
‘siNCE Lim. f0) £ Lim
= lim- 2% +39~-’ B - = x—%;v‘jf t x>-2
o L4419t -». tTtIS _ |
k28 do Lim g(ﬂ does wot exisy
2k o g o - % -2 '
’_llm __-—-—"_'_'_- s S>
(R THLE - 3 (7 42
L—S)Hﬂ/ 49, —

- ( Ayt 2(-5) ‘”bi('g)" By

A [
= 42x50) L] ze 1)



